H & 0l & AHS B Ml A

Y SHHSAUNA (NME)
el SHIEILAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arats 1,041,416 1,034,131 7,285
SHY2LHYRIRA(XHES) 497,482 494,8% 2,587
SHI2ILAA 497,482 494,89 2,587
Y= = A& 376,803 375,603 1,200
201 fer= 3| 90,793 89,593 1,200
01 At 2|l 32,319 32,319 0
0 &Bt~Sd| 32,319
O = 29 s+
9,099,000 14| 9,099
O s BX 7S84, F, 22)
13,5002 x85* 122 1,29
O N7 = 54,0008 x25+43] 432
O dAtEHI=S 63,0003 x35+43] 756
O HIANREBS(SAEX, 217, 23 S
) 81,0002 x5+ 123 4,860
O =A #¢ 27,0003 x4 5 +43] 432
O Ed F(med, BAIl)
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0 2223 < MAl 44,474
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O d-2+J & "l Xz
20,0002 *75+122 1,680
O SgMgD| A0 sld2
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O 38 IS Ay Mg
300,000 * 12 3,600
O 3& dASAd eA2H IAHZY|
500,000 * 122 6,000
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03 A= SHI 14,000 14,000 0
O =230 ue 24|
14,000,000 *14] 14,000
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O a0z 400,00021+372122] 29,600
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O BtEEsEazg
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[ S0iS Q22X AHIXa
10,000 *130* 103 13,000
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01 ML SEFHSHI 3,500 3,500
O AS& Z)| 2 1B 7Y
3,500,000 14 3,500
AL AIE EHl | B+ 120,679 119,292 1,387
101 eI t| 94,601 93,214 1,387
M I1RINZ2Z2sSEs HA,601 93,214 1,387
1 AL 2te| o182 6,600
O Jlez 550,000 x 18+ 12& 6,600
O A =2 23 FH| o= 6,600
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404 28 1,502
O Ad3Ees RE=
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O LAz 2=
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O 20HASEEE 2E=3
13,200,0002*4.5/100 594
O NEE8s RfE=
13,200,0002 *1.8/100 233
O &Ess 222
13,200,0002*1/100 132
O ZAHH =XtEs 012 19,740
O Jlez 60, 18021 x 1 x261 15,707
FE(g3)=¢
60, 1803 x 1«52 3,130
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A KRS
Y SHHSAUNA (NME)
el SHIEILAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AME&BI= AL 9,023
O EA 2,500 1,087 m’ 2,718
O A3sdA 2,500&+318m’ 795
O g&EX 60,0002 42 240
O o=l 30,0003 x2CH+23 120
O &=d 50,0002 x2CH*43] 400
O g3z 150,0002 %12 150
O AN 242
300,000 = 1CH* 122 3,600
O AZAE ZEIUB L NSI|SEY
= 500,000& 22 1,000
O xt& - A9l 7,000
O gRXe (RFU, UKL, 2234
) 7,000
- BEx 3,000,000 1CH 3,000
- HIINSK 4,000,000 = 1CH 4,000
206 M=l 9,685 9,685
01 MZH| 9,685 9,685
0 g9 25U 4,285
O 3g= 1,578 %879 £ 1,388
O &= 1,4962 +1,936 4 2,897
O JIEH XbXH & 60,0002 * 10592 5,400
=OIHOI AR (RHAHS) 408,714 408,075 639
FREHAAY 408,714 408,075 639
e SHEEH E FUEAAIS 107,714 107,075 639
101 e124d| 37,714 37,075 639
M ORNZZ2NSE S 37,714 37,075 639
O ZAX L s sy olse
80,2403 x3& 50 12,036
0 el A5 IR
80,2403 x2EH %120 19,258
[ FeiRl 222 227 o=y
0, 2402 x2& »40e 6.420
401 AIEHIZ R HYI 70,000 70,000
01 Al&H| 70,000 70,000
O s 178 H=H JHISA
25,000,000 * 14| 25,000
O Hats 268 HEH SZIHISA
25,000,000 * 14 25,000
O =28 21857 & EH|
5,000,000& 42 20,000
A2 FRI=RAY 301,000 301,000 0
401 AlEHIZL S0 301,000 301,000
01 Al&H| 300,000 300,000
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